Model: 45-6793W / F
Date Code: CPSIA#2-45-6793W / F- -GR

= IRIUMPH

SPORIS USA.

48" 13-in-1
Combo Table

Please keep this instruction manual for future reference

If you have any problems with your new product,

please contact Escalade Sports at 1-888-996-2729

or e-mail us at gameroom@escaladesports.com
for any technical support or warranty issues.



http://www.triumphsportsusa.com/
mailto:csr@triumphsportsusa.com

Limited 90-Day Warranty

All Triumph Sports USA (TSU) games have a limited 90-day from date of purchase
warranty. This warrants the retail purchaser for any TSU game purchased to be free from
any defect in materials and construction for 90 days from the date of purchase. The only
exceptions to the warranty include main frames, tabletops, playing surfaces, batteries or
tools. Damaged main frames, tabletops, playing surfaces need to be returned to the
store as we are unable to replace these parts. Normal play wear and usage is not
covered under the warranty, nor is wear or damage due to improper use of the TSU
game. This will void any and all TSU warranties.

A PURCHASE RECEIPT (or other proof of purchase date) will be required before
any warranty service is initiated. All requests for warranty service can be submitted
by email, in writing or by contacting our Customer Service Department at:
1-888-996-2729 or email us at gameroom@escaladesports.com

IMPORTANT NOTICE! Please contact us before returning the product to the store.

WARNING:Choking Hazard—Product contains small balls and/or small parts.
Not for children under 3 years of age.

Be sure to check out all the exciting games <57 JA/UMPH has to offer.
\isit our web site at:

www.triumphsportsusa.com

GAME TABLES CASINO OUTDOOR GAMES DARTBOARDS

Escalade®Sports

817 Maxwell Avenue

Evansville, IN 47711
www.triumphsportsusa.com

2016 Escalade®Sports. All Rights Reserved.



Parts List

i

~_—

- ; Hockey Table Chess With Backgammon
Billiard Cabinet With Table Tennis Checker Lemfﬂ Le
1PC 1PC
o]
o O
% O
Basketball
Right Leg End Leg Brace Baseball With Football Board Boasketball
EPC§ [2PCB 1PC 1PC
Leg Leveler Table tennis Post Rivet Plug
4PCS 2PCS 4PCS
Basketball
Basketball Net Rim Return Net Felt Pad
1PC 1PC 1PC 2PCS
19
& D
lo¥ololos
= @ @o
Hockey Pusher Hockey Puck Chalk Billiard Ball
2PCS 2PCS 2PCS 1PC
N = g 0
Triangle Cues Table Tennis Net Table Tennis Ball
1PC 2PCS 1PC 2PCS
:
Y, & .
Table Tennis Bat Baseball Air Pump with Needle Storage Bag
2PCS 1PC 1PC 1PC
- O] il
Arrow
3PCS Bean Bag — Red Bean Bag — Blue Chess Set
4PCS 4PCS 1PC



YOYO
矩形

YOYO
矩形

YOYO
矩形


m— ¢
BC?I%C aerrr1 rggtn Bow Brush Launcher
1PC 1PC 1PC 1PC
: - m
O
»\4.\4
g W5 NN !
Dice Box Dice Bracket - Left Darts
1PC 2PCS 8PCS
41 421 :
Basketball brastic DartBoard | Dot Dart Board Hook Basketball hook
1PC Guide Bracket (1 pc) | Guide Bracket (1 pc) 7PCS 2PCS
"
)
&2 T ©
Football 1/4"x1-1/8” Bolt 1/4” Washer Arrow holder
1PC 24PCS 24PCS 1PC
A .
4 x 15mm 4 x 5mm 4 x12mm 4 x18mm
Flat Head Screw Round Head Screw Round Head Screw Flat Head Screw
8 PCS 6PCS 4PCS 18PCS
:
Bean bag cup-large Bean bag cup-medium Bean bag cup-small Allen Key
1PC 1PC 1PC 1PC

e

Bracket - Right
2PCS



YOYO
矩形


Assembly Instructions

FIG.1

Attach the Legs (#4 and #5) to the Billiard Cabinet (#1) using four Bolts (#A46) and four
Washers (#A47) per Leg.

Attach the End Leg Brace (#6) to the Legs using four Bolts (#A46) and four Washers (#A47)

per End Leg Brace.

<

/‘

Pilot Holes ]
must be facing 5 @
down for correct "/

hook assembly.

HELPFUL HINT:

SR RN
=9 :

L

’n
Pilot Holgs :g,' "} g
on one side 1" | T’
End Apron. v

T-Nuts face
inside.

| FIG.1

@

D%

Be sure legs (#4 and #5) and leg brace (#6)
are all assembled together on the same side
of the table as shown.

Future assembly steps require holes on these
legs to be in a certain position for correct

assembly.

==

N

T-Nuts face
inside.

£

NO Pilot Holes
on this side. e’J

<

HELPFUL HINT:
The main cabinet #1
must be in position
as shown in the
diagram with the
rivet plug hole close
to the left hand side
(near leg #4 as
shown in FIG 1).



FIG.2

Screw in the 4 leg levelers #10 to the bottom of
the legs as shown in fig 2.

VERY CAREFULLY TURN THE TABLE OVER AND SET IT ON
\ ITS LEGS. BE CAREFUL, THE TABLE IS HEAVY.

p
A\ WARNING:
THIS STEP REQUIRES TWO ADULTS.

FIG.3

Remove the paper from the Felt Pads(#16)and stick them to the bottom of the
Pushers(#17).

Place the Hockey Table with Table Tennis(#2)on the Billiard Cabinet to Play Glide Hockey
using the Pushers(#17)and Puck(#18).

Turn the Hockey Table Top over to the Table Tennis Top (#2) on the Billiard Cabinet. Then
insert the Net Posts (#11) and Net (#23) to play Table Tennis.




FIG.4A

Attach one hook (#43) and one LEFT bracket (#39) to Leg (#5) using Pilot Holes and Screws (#A52).
Repeat the step to attach one hook (#43) and one RIGHT bracket (#57) to Leg (#4) using Pilot Holes
and Screws (#52). These brackets assembly will hold the archery board in place.

Attach the LEFT (#42L) and RIGHT (#42R) Plastic Dart Board Guide Brackets to the End Apron using
two Screws (#A51) as shown. These brackets will hold Dartboard (#8) board.

FIG.4B

To support the Table Tennis table (#2) into the upright position, attach the LEFT bracket (#39) and
RIGHT bracket (#57) to the Legs using Pilot Holes and Screws (#A52). And attach the Hooks (#43)

to the Legs using Pilot Holes and Screws (#A52) as shown in FIG 4B.

At the opposite end of the table, attach one Hook (#43) to the End Apron of table (#1) using Pilot Holes
and Screws (#A52). Attach two hooks (#43) to the End Leg Brace (#59) using Pilot Holes and Screws
(#A49)

i Note: Open . .
RS Bl End Up @ T /Pllot Holes

Pilot Holeiﬁ»
.
es3
o R :QQ’

o
Pilot Holes

Pilot Holes

!

Table Tennis
this side —|

Open face —<E
this side.

!
:
i



YOYO
矩形


FIG.5

To play the Baseball/Football game lean the Game Board (#7) against the Hockey

Table/TableTennis Board (#2) as shown. Put game Board (#3)
(Chess,Backgammon,Checkers) in front of Board #7 to prevent it from sliding down.

FIG.6

Attach the Basketball Rim (#14) to the Backboard (#8) using pilot holes with Screws (#A49).
Install the Basketball Net (#13) to the Rim (#14).

Attach the Basketball hooks (#44) to the Backboard (#8).




FIG.7

Attach the Bean Bag Cups (#53, #54 and #55) to the Bean Bag Board (#9) using
Screws (#A50).

out screws. @

FIG.8

Hang the Backboard (#8) onto the Table Tennis Board (#2) using Basketball Hooks (#44).

To play Bean Bag Toss hang the Bean Bag Board (#9) onto the hooks(#43) as shown in
Fig. 8.

To play Tick Tack Toe Bag Toss, game board (#9) must be removed from the hooks and
laid flat on the floor.




FIG.9

Attach the Basketball Return Net (#15) to the
Table Tennis (#2) and Billiard Cabinet (#1) using
the fastener straps and four Rivet Plugs(#12).

o
-~

Velcro
Strap

NOTE: Use rubber mallet (if needed)
gently tap the rivet plugs.

L FIG.o

FIG.10

Stow away Instructions

Fold the rim (#14) against the Basketball Board (#8). Please follow the diagram for
the proper order to stow the game boards. Make sure the Game Board (#9) with
the cups facing outward is the last game stored in the brackets.

Hang the storage Bag (#28) on the Rivet Plug (#12).

[7A—




FIG.11

To play Archery, slide the hockey / archery insert board #2 into the hooks and
brackets as shown in fig 11

Attach the Arrow holder (#48) to the Bow (#14) by snapping them together as shown
Fig. 11A, 11B and 11C.

The circles on the playfield are the scoring values to shoot for. Each player takes
turns launching 3 arrows per turn. The player with the most points scored at the end
of 3 rounds wins.

FIG.11B

WARNING: Always make sure there are no other people or pets in the path or

near surroundings when playing this game because the arrows could cause
physical harm or injury. Shooting arrows should only be at the target.

Adult supervision is highly recommended.

Should the suction cup on any arrow come off , or if the arrow in any way becomes
damaged or broken , do not use this arrow and discard this arrow immediately.


YOYO
矩形


Modéle : 45-6793W/F
Code de date : CPSIA#2-45-6793W/F-_ 0716 -GR

IRIUMPH

SPORIS USA.

Table multi-jeux 13 en 1
Combo de 121.92cm

Veuillez conserver ce mode d’emploi pour consultation ultérieure

Si vous rencontrez un probléme avec votre nouveau produit, veuillez
communiquer avec Escalade Sports par téléphone au 1-888-996-2729
ou par courriel a I'adresse gameroom@escaladesports.com
pour obtenir de l'assistance technique ou tout probléme lié a la garantie.



mailto:csr@triumphsportsusa.com

Garantie limitée de 90 jours

Tous les jeux de Triumph Sports USA, Inc. (TSU) sont couverts par une garantie limitée
de 90 jours a partir de la date d'achat. Cela garantit a I'acheteur au détail que le jeu TSU
est exempt de tout défaut de matériaux et de fabrication pendant 90 jours a partir de la
date d'achat. Les seules exceptions a la garantie sont les cadres principaux, les
plateaux, les surfaces de jeu, les batteries et les outils. Les cadres principaux, les
plateaux et les surfaces de jeu doivent étre retournés au magasin, car nous ne pouvons
pas remplacer ces pieces. L'usure et I'utilisation normales du jeu ne sont pas couvertes
par la garantie. Ne sont pas également couverts 'usure et les dommages dus a une

utilisation inappropriée du jeu TSU. Cela annulera partiellement ou totalement les
garanties TSU.

Un RECU D'ACHAT (ou un autre justificatif de la date d'achat) sera requis pour toute intervention
sous garantie. Toutes les demandes d'intervention sous garantie peuvent étre envoyées par courriel,
par courrier postal ou en communiquant avec le Service a la clientéle au : 1-888-896-2729 ou par
courriel a I'adresse gameroom@escaladesports.com

AVIS IMPORTANT! Veuillez communiquer avec nous avant de retourner le produit au magasin.

Avertissements

AVERTISSEMENT: Risque d'étranglement. Le produit contient de petites balles et de
petites pieces. Ne convient pas aux enfants de moins de 3 ans.

Ne manquez pas de consulter tous les jeux passionnants que
propose Triumph Sports USA. Visitez notre site web a:

www.triumphsportsusa.com

BILLARDS FLECHETTES TABLES DE JEUX CASINO JEUX D’EXTERIEUR CIBLES DE
FLECHETTES

Escalade®Sports

817 Maxwell Avenue Evansville, IN 47711
www.triumphsportsusa.com

2016 Escalade®Sports. Tous droits réservés.


mailto:csr@triumphsportsusa.com

Liste des piéces

<

Chassis de billard

=

Hockey sur table avec

-

Echecs avec jacquet

Nombre: 3

Nombre: 4

Nombre: 4

Nombre: 1 tennis de table et dames
ombre: Nombre: 1 Nombre: 1
- I . =
@]
o O
% @)
Pied droit Renfort d'extrémité Panneau de baseball Panneau de basket-ball
de pigtement avec football avec jeu de fléchettes
: Nombre: 2 Nombre: 1 Nombre: 1
11
Jeu de es avec jeu
de morpion Vérin de pied Montant de tennis de table Rivet a tige
Nombre: 1 Nombre: 4 Nombre: 2 Nombre: 4
:
Filet de basket-ball Anneau Filet de retour de ballon Protection en papier
) ; de basket-ball )
Nombre: 1 Nombre: 1 . Nombre: 2
Nombre: 1
19
QOGO
@ Ng S388
=~ ®@®0
Poussoir de hockey Palet de hockey Craie Billes de billard
Nombre: 2 Nombre: 2 Nombre: 2 Nombre: 1
Triangle Queue de billard Filet de tennis de table Balle de tennis de table
Nombre: 1 Nombre: 2 Nombre: 1 Nombre: 2
:
Raquette de tennis de table Balle de baseball Pompe a air Sac de rangement
Nombre: 2 Nombre: 1 Nombre: 1 Nombre: 1
° ] O] il
Fléche Poche — rouge Poche — bleue Jeu d’échecs

Nombre: 1



YOYO
矩形

YOYO
矩形

YOYO
矩形


-

\

1111111111011
Pions de backgammon Arc Brosse Lanceur
Nombre: 1 Nombre: 1 Nombre: 1 Nombre: 1
QSIS
@ G
Cornet a dés Dés Support — gauche Fléchettes
Nombre: 1 Nombre: 2 Nombre: 6
Nombre: 5 ’ ’
Ballon de basket-ball Support de guidage de
Nombre: 1 cible de fléchettes \rochet. Crochet de basket-bal
Nombre: 2 ombre: Nombre: 2
m
& O
Ballon de football Boulon 1/4’x1-1/8” Rondelle 1/4” Titulaire de la fleche
Nombre: 1 Nombre: 24 Nombre: 48 Nombre: 1

D

Vis a téte plate 4 x 15 mm

Vis a téte ronde 4x5 mm

N

Vis a téte ronde 4 x 12 mm

D

Vis a téte plate 4 x 18 mm

Nombre: 8 Nombre: 6 Nombre: 4 Nombre: 18
m
Récepteur de poche — grand , .
P Nomgre: 1 g Récepteur de poche — moyen Récepteur de poche — petit
Nombre: 1 Nombre: 1 Nombre: 1

Support — droit
Nombre: 2



YOYO
矩形


FIG.1

Fixer les pieds (n° 4, n° 5) au chéassis du billard (n° 1) a l'aide de quatre écrous
(N ° A48) et huit rondelles (N ° A47) parpied.

Fixer les renforts de piétement d’extrémité (n° 6 ) a 'aide de quatre boulons (n° A46) et
de quatre écrous (N ° A48) et huit rondelles (N ° A47) parrenfort.

@

o=

°
o S
o

O
Ll
&

’®

CONSEIL UTILE : Veiller a
assembler les pieds n° 4, n° 5 et
le renfort de piétementn®6 du
méme cb6té de la table, selon la
représentation. Les étapes
ultérieures de montage
nécessitent que les trous se
trouvent dans une certaine
position pour procéder a un
montage correct. Les piedsn° 4 ,
n°5 , etle renfort de piétement
n° 6 doivent aussi étre assemblés
de l'autre c6té de la table.

==

CONSEIL UTILE :
Le chassis principal
n°® 1 doit se trouver
dans la position
représentée sur le
schéma, trous
prévus pour les
rivets a tige du coté
gauche (prés du pied
[n° 4] comme
l'indique la figure 1).



FIG.2

Visser les 4 vérins de pieds n° 10 a I'extrémité
des pieds comme le représente la figure 2.

FIG.3 e

Retirer la protection en papier (n° 16) des pastilles en feutre et les coller a la partie inférieure
des poussoirs (n° 17).

Placer la table de hockey avec tennis de table (n° 2) sur le chassis de billard pour jouer au
hockey a I'aide des poussoirs (n° 17) et du palet (n° 18).

Retourner le plateau pour placer la face tennis de table dessus (n° 2) sur le chassis de
billard. Enfiler ensuite les montants (n° 11) du filet et le filet (n° 23) pour jouer au tennis de
table.

\FIG. 3/
o




FIG.4A

Fixer un crochet n® 43 (haut) et un support gauche n® 39 (bas) au pied n° 5 a l'aide de vis
n° A52.

Fixer de la méme maniére le crochet et le support droit n® 57 au pied n® 4 . Ces supports
maintiendront le panneau de tir a I'arc en place. Fixer le support de guidage (n° 42) de la cible
de fléchettes au panneau d’extrémité a I'aide de deux vis a téte ronde (n° A51).Ces supports
tiendront la cible de fléchettes n® 8.

FIG.4B

Pour maintenir le plateau de tennis de table n°® 2 en position verticale, fixez les supports gauche
(n°® 39, n° 57) et droit aux pieds a I'aide de deux vis (n® A52). Fixer ensuite les crochets (n°43)
aux pieds a I'aide de deux vis (n° A52) comme l'indique la figure 4B. A 'autre extrémité de la
table, fixer un crochet (n° 43) au panneau d’extrémité de table n° 1 a I'aide de vis (n® A52). Fixer
2 crochets n° 43 au renfort de piétement n® 6 a 'aide de vis (n° A49). Ces crochets permettront
de ranger les petits panneaux de jeu lorsqu’ils ne sont pas utilisés. T

S

T

pA
<
A
A
v L

=



YOYO
矩形

YOYO
矩形


FIG.5

Pour jouer au Baseball/Football, incliner le plateau de jeu (n° 7) contre le plateau de
hockey/de tennis de table (n° 2) comme cela est représenté. Coincer le plateau de jeux
(n° 3) (échecs, jacquet, dames) devant le plateau n°® 7 pour 'empécher de glisser.

FIG.6

Fixer 'anneau de basket-ball (n° 14) au panneau (n° 8) a l'aide de quatre vis (n° A49).
Monter le filet (n° 13) a 'anneau (n° 14).

Fixer les crochets de basket-ball (n® 44) au panneau (n° 8).




FIG.7

Fixer les récepteurs de poches (n° 53, n° 54,n° 55)au panneau a l'aide (n° 9), de
deux vis (n° A50) par récepteur.

FIG.8

Fixer le panneau (n° 8) surle panneau de tennis (n° 2) de table a l'aide des crochets
de basket-ball (n° 44).

Pour jouer au jeu de poches, suspendre le panneau de poches (n° 9) aux crochets (n°
43) comme l'indique la figure 8.

Pour jouer au morpion jeu de poches décrocher le panneau (n° 9), et le faire reposer a
plat sur le sol.




FIG.9
Fixer le filet (n® 15) de retour au plateau de tennis de
table (n° 2) et au chassis de billard (n° 1) a l'aide

des attaches et de quatre rivets a tige (n° 12).

FIG.10

Directives de rangement

Plier 'anneau (n° 14) contre le panneau de basket-ball (n° 8). Priere de suivre le
schéma qui indique I'ordre a suivre pour ranger les plateaux de jeu. Le panneau de
jeu (n° 9) dont les récepteurs sont orientés vers I'extérieur est le dernier a ranger

dans les supports.

Suspendre le sac de rangement (n° 28) au rivet a tige (n° 12). \

[7A—




FIG.11

Pour jouer au tir a I'arc, glisser le panneau hockey/tir a I'arc n°2 dans les crochets
et les supports comme l'indique la figure 11.

Fixer le support de fleche (n°48) alarc (n°34) en les assemblant comme le
montre comme l'indique la figure 11A, 11B, 11C.

Les cercles figurant sur le terrain de jeu sont les valeurs a viser pour marquer. Les
joueurs tirent 3 fleches par tour, chacun a leur tour. Le joueur qui a marqué le plus
de points a la fin de ses trois volées de tirs gagne.

FIG.11B

AVERTISSEMENT : Toujours s’assurer que personne ou aucun animal ne se

trouve sur la trajectoire ou dans les parages immédiats pendant ce jeu car les
fleches pourraient occasionner des dommages physiques ou des blessures.

On ne doit tirer des fleches que sur la cible. La surveillance par un adulte est
vivement conseillée.

Si la section tasse sur une fleche venir, ou si la fleche de toute facon est
endommage ou brise, ne pas utiliser cette fleche et jeter cette fleche immediatement



	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15
	Slide Number 16
	Slide Number 17
	Slide Number 18
	Slide Number 19
	Slide Number 20
	Slide Number 21
	Slide Number 22



